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D 3x; + 12s = 45000 @ 1z9 + las = 45000
1z, + 225 = 40000 225 + 0xg = 40000
@3z, + 125 = 45000 ®1zy + 0x4 = 45000
11 + 0x3 = 40000 2x9 + 1oy = 40000
@321 + 0x4 = 45000 @125 + 0y = 45000

1z + 1y = 40000 Oxs + lxy = 40000

2DODARBATEDD2DDLEED
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ERRR3: MR eYUICELBERE

minimize —600x; — 500x2

subject to 3z + 1as + lxa — 45000
121 + 225 4 lag = 40000 T1%2,%3, %4 20
D321 + 1as = 45000 @1xo + lag = 45000
121 + 222 = 40000 2x2 + 0z3 = 40000
21 = 10000 79 = 20000
75 = 15000 23 = 25000
@321 + 125 = 45000 ® 1y + 024 = 45000
11 + 0x3 = 40000 2x9 + 1oy = 40000
71 = 40000 zo = 45000
W w
@321 + 0z4 = 45000 ®rs +0ra = D000
lzy + 1oy = 40000 T3+ L4 = r3 = 45000
21 = 15000 7, = 40000

x4 = 25000
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ERRR3: MR eYUICELBERE

minimize —600x; — 500x2

subject to 3z; + 1zg + 123 = 45000
ITT1 F 275 lxzy = 40000

3z, 4+ 1zs = 45000 lao + 1oz = 45000
lx1 + 225 = 40000 2x9 + 0x3 = 40000

BB EE z1 = 10000 /5 myRasis x2 = 20000
—13.500,000 2 = 15000" —10,000,000 x5 = 25000

~

L1,L2,X3, T4 Z 0

@3z, + 1235 = 45000 ®1zy + 024 = 45000
11 + 0x3 = 40000 2x9 + 1oy = 40000
r1 = 40000 o = 45000
m w
@321 + 0z4 = 45000 ®7s + s = D00
121 + 1aa = 40000 T3+ L4 =200 45000
H RIE £ r1 = 15000 BrIEEIE z4 = 40000

—8,000, 000 x4 = 20000 O
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